f2 &
Bl1: ROMEZBELESLY,
(1) —4%Xx—9+ (—15) =21
—4%x—9=36, 36+ (—15) =36—15=21

(2) —3%Xx75+ (—3) x25=—300
—3X75=—225, —3%x25=—-75, —225+ (—-75) =—300

(3) 386+ (13—4) =4
13—4=9, 36+9=4
(4) 2-8+4+12=12
8+4=2, 2—2+12=12
(5) 6Xx3+8+4x3—7%x3=3
6x3=18, 8+4x3=6, 7x3=21, 18+6—21=3



2 : ZEICHFEANG S,
(1) 36:18=2: (C 1 )
RIEBO#HITHEIZ3 6, 36-36=1

(2) 160mz7:3Ic4H+5E (112) m: (48) m
7+3=10, 160+-10=16, 16xXx7=112, 16X3=48

(3) 9.85kg—8,730g=(1.12) kg
9.85—8.73 (HfizghtEd) =1.12

(4) S5%ORIEKAI00ICEFNIBIBENDESE (20) g
5%=0.05, 400x0.05=20

(5)  29WM)DKIZ5 00 gDRIEZENLIERORIEDREIX (20) %
20=2,000g, 2000+500=2,500, 500+2,500=0.2 0



iz
M3 : LTORMICEFEZGSLY,
BHA (BFRmMS10%. ) VEER512% 1Y) B538%) ZRAVTUTOMBIZ1 0 ali-YER
5> T18kgZ R I S ICIXABEH A [Xfilkgo ED, HMBOEBEBRHADBEERZRDIE SN,

N

,.E.EI:I

30m

N 7

60m

1B DOEHE
X:30xXx60=1,800 EZ2 (1,800) m

10aff=YORHAOKES
#£:18+-0.110%9=180 &% ( 180) kg

MBOERICHT HIEHADKLEE
#X:1,800+1,000=1.8, 180%x1.8=324 TA ( 324) kg



iz
M4 UTORMICEFZGESLY,
RECHAZ 2,00 0FIcHFIMLTLUTOMDIZ1 0az=yY 20 0@ LELS &
BUOWET, RECREDSSVRZED), HIDDODERERECOBEZROHGEEL,

“\

,.E.EI:I

25m

. >
48m

D DEHE
HX:25%xXx48=1,200 HFA2 ( 12) a

D ~DHERMERDBHE
H:200%x1.2=240 HZ (240) ¢

D ~DHEGIHELTRECOLESE
X:240+2,000=0.12, 0.12%x1,000=120 =x2 ( 120) w



